INSTRUCTION BOOK AND GOMPONENT LISTING

B8

FTX Outback Fury Xtreme Manual2.indd 1 +==+ 14/05/2019 14:27
\Z




FTX Outback Fury Xtreme 1/10th Scale 4WD
Ready-To-Run Rock Crawler

Congratulations on your purchase of the
FTX ‘Outback Fury Xtreme’ electric off road car.

This 1/10th scale model has been factory assembled and all electrics installed and
set up to make it the easiest possible introduction to the sport of
driving RC cars.

WARNING: Read the ENTIRE instruction manual to
become familiar with the features of the product
before operating. - ; ; 7~
Failure to operate the product correctly can resultin " i ; " i msT TRECH XCITEMENT_4
damage to the product, personal property and cause N ;
serious injury.

This is NOT a toy and must be operated with caution
and common sense.

Failure to operate this product in a safe and
responsible manner could result in damage, injury or
damage to other property.

This product is not intended for use by children without
direct adult supervision.

It is essential to read and follow all the instructions and
warnings in the manual, prior to assembly, set-up or use, in order
to operate correctly and avoid damage or serious injury.

Safety Precautions and Warnings
e You are responsible for operating this model such that it does not endanger
yourself and others, or result in damage to the product or the property of others.
¢ This model is controlled by a radio which is possibly subject to interference which can cause momentary loss of control so it is advisable to
always keep a safe distance to avoid collisions or injury.
e Age Recommendation: 14 years or over. This is not a toy. This product is not intended for use by children without direct adult supervision.

Carefully follow these directions and warnings, plus those of any additional equipment associated with the
use of this model, chargers, ESC and motors, radio etc.

e Never operate your model with low transmitter batteries.

e Always operate your model in an open area away from cars, traffic or people.

e Never operate the model in the street or in populated areas.

e Always keep the vehicle in direct line of sight, you cannot control what you cannot see!

e Keep all chemicals, small parts and anything electrical out of the reach of children.

e Although splash-proof the car and electronics are not designed to be subjected to extended moisture exposure or submersion.
To do so will result in permanent damage.

e Avoid injury from high speed rotating parts, gears and axles etc.

e Novices should seek advice from more experienced people to operate the model correctly and meet its performance potential.

e Exercise caution when using tools and sharp instruments.

¢ Do not put fingers or any objects inside rotating and moving parts.

e Take care when carrying out repairs or maintenance as some parts may be sharp.

e Do NOT touch equipment such as the motor, electronic speed control and battery, immediately after using your model because they can generate high temperatures.

e Always turn on your transmitter before you turn on the receiver in the car. Always turn off the receiver before turning your transmitter off.

e Keep the wheels of the model off the ground, and keep your hands away from the wheels when checking the operation of the radio equipment.

e Prolong motor life by preventing overheat conditions. Undue motor wear can result from frequent turns, rapid change of direction
forwards/backwards, continuous stop/starts, pushing/pulling objects, driving in deep sand and tall grass, or driving continuously up hill.

Contents: Items required to complete:
FTX Outback Fury Xtreme Trail Vehicle Rolling Chassis Steering Servo
Transmitter: 2.4ghz Steerwheel Motor
Charger: Wall Charger NiMh 500mA Electronic speed control
Battery: 2000mAH 7.2v Battery pack
Charger
\ J
2

‘ ‘ FTX Outback Fury Xtreme Manual2.indd 2 @ 14/05/2019 14:27 ‘ ‘



FTX OUTBACK FURY EXTREME PRO CRAWLER

SPECIFICATION:

DIAMETER | WIDTH OF | GEAR |RECOMMENDED FINAL

LENGTH | WIDTH HEIGHT [ WHEEL BASE OF WHEEL WHEEL RATIO SERVO WEIGHT

510mm 230mm | 245mm 313mm 120mm 45mm 1:41 15kg 2580g
SPARE PARTS LISTING

FTX9150 - Chassis Rail
Brace/Tray Mounts (2pc)

FTX9153 - Front & Rear
Body Post Set

%

FTX9243 - Transmission
Gear Housing Set Grey

Q

e,

FTX9167 - LED Light Clips

FTX9156 - Main Gear 87T

FTX9157 - Front & Rear Axle
Housing (1pc)

€

FTX9158 - Battery & ESC
Mount

&

FTX9159 - Gear Cover

FTX9164 - Metal Crown Gear
40T (1pc)

FTX9244 - Front/Rear Bumper
Mounts (2pc)

FTX9245 - Front Bumper

)

)

FTX9246 - Rear Bumper

sl

FTX9247 - Front CVD
Driveshafts (2pc)

/////

FTX9248 - Garbon Fibre
battery tray & Straps

<

FTX9163 - Pinion Drive Gear

i

FTX9170 - Aluminium Motor
Plate & Spacers

FTX9249 - Servo Link Rod
(1pc)

"

FTX9173 - Panhard Bar (1pc)

P

FTX9174 - Front Upper Link

FTX9250 - Rear Driveshaft
(2pc)

=

FTX9177 - Rear Upper Link
86mm (2pc)

FTX9178 - Rear Upper Link
102mm (2pc)

o

e ”

FTX9251 - Steering Link (2pc)

»

FTX9252 - Garbon Fibre
Chassis Rails (2pc)

FTX9205 - Moulded Wheel

Fenders Set
~—
(g
(>

ﬂ

FTX9206 - Moulded Body
Accessories

P00

FTX9207 - Moudled Engine
Cover (not std)

-

FTX9208 - Moulded Body
Front Grill

oo¢

FTX92560 - Pre-Painted
Body - Orange

FTX9256BL - Pre-Painted
Body - Blue

FTX9256Y - Pre-Painted
Body - Yellow

FTX9256R - Pre-Painted
Body - Red

>

FTX9258 - Gomplete Moulded
Roll Cage & Roof Rack

(4pc)

FTX9259 - Roof Rack Screw
Set

IMAGE NOT
AVAILABLE

‘ ‘ FTX Outback Fury Xtreme Manual2.indd 3

14/05/2019 14:28‘ ‘



SPARE PARTS LISTING

FTX9221 - Painted Metal
Axle Covers (2pc)

FTX9237 - Steel Centre
Sliding CVD Driveshaft

=

FTX9239 - Alloy One Piece
Drive Housing

m
10

FTX9203 - Front & Rear
Bumper LED Wires

FTX9231 - Moulded Side
Footplate

wh

FTX9260 - LED Light Bar for
Roll Cage

FTX9257 - Clear Body

FTX8171B - Wheels (pr)

FAST1269B - Premounted
Cutter Tyre (pr)

FAST1269T - Cutter Supersoft
Tyre w/Memory Foam
118mm Dia (pr)

FTX9227 - Aluminium Rear
Axle Covers (2pc)

FTX9253 - Aluminium Lower
Skid Plate

FTX9228 - Aluminium Front &
Rear Shock & Body Mounts
(2pc)

FTX9232 - Aluminium Caster
Mounts L/R (pr)

FTX9229 - Aluminium
Steering Arms (pr)

(TN
Nav] V

FTX9254 - Metal Transmission
Gearset 20T+28T+53T

4 ‘ -,
i
(n

—

FTX9224 - Aluminium Mount
for Links (2pc)

gg
L

FTX9225 - Aluminium Sway
Bar Lower Mount

FTX9226 - Aluminium Sway
Bar Lower Mount

FTX9220 - Aluminium Shock
Absorbers (2pc)

FTX9182 - Transmission
Hardware Set

L

FTX9183 - Pinion Gear 14T

A\ s

.

FTX9184 - Pivot Balls
25.9 Short (8pc)

FTX9185 - Pivot Balls
25.9 Short (8pc)

(K40

(0
0
{

FTX9168 - Wheel Hex
w/2x10 Pins (4pc)

“‘
e®s

FTBB10 - 10mm x 15mm x
4mm bearing (1pc)

FTBB120 - 5mm x 10mm x
4mm bearing (2pc)

(8pc)

FTX9186 - 93x8x0.8mm
Washers (9pc)

FTX9187 - Spacer Gasket
6.8x5x2 (6pc)

FTM4BF - M4mm Flanged
Locknuts

FAST123 - Grub Hex Set
Screw M3 x 3mm

FAST123A - Grub Hex Set
Screw M4 x 4mm

FTX6879 - Button Head Hex
Machine Screw 3x6mm

vee
tee

‘ ‘ FTX Outback Fury Xtreme Manual2.indd 4

14/05/2019 14:28‘ ‘



SPARE PARTS LISTING

FTX6525 - Button Head Hex
Machine Screw 3x8mm

LA A
777

FTX6527 - Button Head Hex
Machine Screw 3x12mm

111
1T

FTX6528 - Button Head Hex
Machine Screw 3x14mm

T

FTX9189 - Button Head Hex
Machine Screw 3x18mm

11
11

FTX9190 - Button Head Hex
Machine Screw 3x20mm

T

FTX9191 - Button Head Hex
Machine Screw 3x22mm

I

FTX9192 - Button Head Hex
Machine Screw 3x25mm

I

FTX9193 - Button Head Hex
Machine Screw 3x28mm

FTX6535 - Flat Head Hex
Machine Screw 3x8mm

vee
AR

FTX6536 - Flat Head Hex
Machine Screw 3x10mm

it
[ A A |

FTX9195 - Column Head Hex
Screw 2.5x10mm

T

FTX6538 - Flat Head Hex
Machine Screw 3x14mm

T

FTX6540 - Flat Head Hex
Machine Screw 3x20mm

T

FTX9194 - Cap Head Hex
Screw 2.5x8mm

i
i

FTX9197 - Cap Head Hex Self
Tapping Screw 2x5mm

9%
AR

FTX9198 - Cap Head Hex
Machine Screw 3x14mm

11
1

FTX9196 - Rear Lower
Suspension Arm Screw
3x29mm

IMAGE NOT
AVAILABLE

FTX9188 - Button Head Hex
Machine Screw 3x16mm

T

UPGRADE OPTION PARTS

FTX9261 - Front Aluminium
Bumper set w/Shackles

FTX9262 - Rear Aluminium
Bumper set w/Shackles

FTX9242F - Front Snow/Sand
Tracks

FTX9242R - Rear Snow/Sand
Tracks

‘ ‘ FTX Outback Fury Xtreme Manual2.indd 5

14/05/2019 14:28‘ ‘



FRONT DRIVE SYSTEM ASSEMBLY
FTX9168
2 FTX9227 FTX6879
FTBB120 FTX9221 FTX9194
o
FTBB120 . y FTBB10 FX9239 ﬁ: ?
v FTX9250
y P
FTX6879 {,
FTX9224

FTX9195
7
SSFTBB120 FTX9164
BB 0
FTX9250
™ FTX9224
FTX6879
FTX6525 ?Bm yd
FTX9187 . # e
/ ol @
FTX6879 Pl
FTBB120
FTX9168

REAR COMPONENT ASSEMBLY

FTX9184 FTX9184 Pe

| | FTX9220 FTX9251
| 102mm | @
=) | =0
FTX0178 FTX9184
|
]
| 75mm =
[~ =] - =< ]
ili FTX9174
FTX9185

A4pcs 3x16 (FTX9188)

ﬁu pes 3x28 (FTX9193)

FTX9220
FTX9188 ~~

FTX9249
> FASTM3E 2 ’
. (A
FTX9178 — TX91 88
—
& X5 pcs M3 (FASTM3B) FTX9178
FRONT COMPONENT ASSEMBLY
102mm | i
PR e WY FTX9220
FTX9178 I
FTX9184 FTX9184 & .
4 \
FTX9185 FTX9220 ’,’ \ ”
—som— - FTX9220
m . ' — ﬂ r\:\ \
FTX9177 8 \
FTX9184 \ "
/ FTX9188 ‘ L '
4pes 3x16 — \
x4pes 3x16 ) Fixo17g 119177 FTX9188 . 8
-
/(lpcs 3x28 (FTX9193) ‘3‘ ‘\ b
FTX9178 ®
@ X5pcs M3 (FASTM3B) v
\ J
6
‘ ‘ FTX Outback Fury Xtreme Manual2.indd 6 @

14/05/2019 14:28‘ ‘



wwmwxhw_qi
)

9269X14 ___

9226X14

8616X14

9259X1d

8226X14

EV16X1d

Gv26X1d

8259X14

S 7 szeoxtd

AT9IN3SSY WY3E LHIIY ANV 1431

14/05/2019 14:28‘ ‘

FTX Outback Fury Xtreme Manual2.indd 7



FTX9183 '

Ll
@y
FTX6525 FTX9156
¢4
FTX6527

FTX9159

CENTRAL TRANSMISSION ASSEMBLY

FTX9186
FTX6525 /

XS

FTX91 56

FTX91 82
FI'X9254
FTX9254
FTBB1 0

FI'X91 87

FTX9192
FTX9182 /)7
”

FTBB120
xapsq  F1X9254 \\Q ~”
FTBB120
/ G“ FTX9190
,Q% / FI'X9243

FTBB1 0

FTX9237

FAST123A

| FAST123A
FTX9237

REAR DRIVE SYSTEM ASSEMBLY

FTX6525

FTX9168 /

@ FTX9185
/

FTX9189
\
‘ \l FB(9249

FTX9191

@/\ ¥ FTX9229

/@ /. ;xsm g
/
FTBB120 % g Pz FTX9185

FTX9232
FTX6526

/5;“9168

> <o 0N

7
FTX687!/ ® '(‘
FTX8792 }

\ FTX9184 FTXB?‘
<

FTX9191

FIBB10 § , FTX9221 i
P Y s FTX6525 FTXe230 \ 5 FX9104  FTX0251 ‘
FTX6526 s
FTX8792 : FBB10 ~o * 3
FIAESTS FTBB120 Y.
FTX9185
~ FTX9157 FTX9164
FTX9224~_ _$ < B F/’X9195
FTX6525 W FTBB10
FTBB120~g (L) (( ‘
\ \ \‘_ ;w
N
FTX0237~_ )9 ®
sn/23A a2 20
5 FTX6525 7 Fixees
R & ¥
NSNS
510 FTBB120

‘ ‘ FTX Outback Fury Xtreme Manual2.indd 8 @

14/05/2019 14:28‘ ‘



14/05/2019 14:28‘ ‘

FTX6525

FTX9199

ELECTRONIC SPEED CONTROL

(not included)

ELECTRICAL SYSTEM ASSEMBLY

FRONT & REAR TIE ROD

FTX6538

FTX6540

FTX6525

FTX Outback Fury Xtreme Manual2.indd 9




WHEELS

BATTERY PACK (not included)

FAST1269T

FTX8171B

FTX9197

FTX9255

FAST1269B

BODY
FTX6527
FTX6527
\ FIX6527

FTX9259 .
"‘”xs527“ i
i\ 0\’ AN
_ -\

, FTX9258
Ao

FTX6527
FTX6527 \
1
Fx6250 I FTX9259
FTX9259
FTX9206

FTX9205

NN

FTX6525 FTX6525

10

‘ ‘ FTX Outback Fury Xtreme Manual2.indd 10 @ 14/05/2019 14:29‘ ‘



NOTES:

1

‘ ‘ FTX Outback Fury Xtreme Manual2.indd 11 @ 14/05/2019 14:29 ‘ ‘



FTX1is an exclusive brand of CML Distribution, Saxon House, Saxon Business Park,
Hanbury Road, Bromsgrove, Worcestershire, B60 4AD England.
E-mail: info@fix-rc.com

FTX Outback Fury Xtreme Manual2.indd 12 (&) 14/05/2019




